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Solve each inequality. EXPRSS Fined GhSwer (n interval notahvw. M/LK,S /"’gir

1. 16 — 4t < 36 2. 2(m+3) + 1> 23 3.7+ 13(x + 1) = 3x
4. —6a < 21 2(ax Iy

a 5. 3(4.1 +5) > ye: 6. 2[5x — (3x - 4)] < 3(2x + 3)
7. 8(x — 5) =56 8. 6—-x=7x+3 9, 10 - x = -2(3 + :x)

10. -9 =4x +3 =11

(1. 3y -5 =6 12. —4r>2 13. 3 — 4m < 11 4. 7d = 2(d + 5)

I5. 2B - h) +2h=016. 3k —(1-2k)>1 (7. Sp+12=9p-20 I8.3-2r<7-7»

A e end of H= /mor) furn N WIHLF é/au_

hive dont. /Fgou have nof finished all 78, finish
4 home on o hew piece of feoseleat:



